A =4xy?> —2x%y +3x%y2, B=x*y-3x*>y? - 2xy? 4 W, A+ 2B &
2hera) o

D x? @ x%y ® x%y?

@ —2xy? (@)—3x2y2

A+ 2B
= (4xy? — 2x%y + 3x%y?) + (2x%y — 6x%y? — 4xy?)
= —3x%y?




ohe 3 ot o] AN AT 2R AL

@ (bx-y)+(3x—2y) =8x-3y
@ (B5x®+x2—6x+7)—(2x3 —4x? 1) = 3x> + 5x2 — 6x + 8
@ (xy +xy? = x%) = (32 — xy)

= 2xy + xy? — 4x?

@(x2 +1)(3x% -2x-1)
=3x*-2x3-2x2 +2x -1

©® (x* =3x° = 2°) + (x +y) = 2% —xy - 2y°

(2 +1)(3x* —2x-1) =3x*—2x3 + 2x? —2x -1




3. THA] (2 + 20— 3)(3x + x4+ K) O AANAOIA AAeke] A% 15
o ), A4 ko] ZHe?

®-3 @0 ® 3 @6 @)




(x3=3x%+3x+4) (x*+2x-5) 5 AN Ao A x? O] A5 F-5HA?

® 10 @ 15 ® 19 @ 21 (22)25

B

A A x2 2
1) (o123 x (A2Fa}) ol A] 1542 + 4x% = 1942
i) (LAF)x(LAF) oA 6x3
PO AFE19+6=25

X

I“F




5.

a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727

1
@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1




® Va2

ANl B4l dolE q, b, c2} 5
2(ab + bc + ca) = 52
4la+b+c)=36 > a+b+c=9
207 gzl o))

N

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52= 29




A (2k+ 1)y - (k+3) x+10 = 0 ©] k] gtoll BAIRle] 4 4
S5 Sh= A4 x,y ol tiske] x4 y o] 3427

@ 5 @ ® 7 @ 8 ® 9

B

()= (y-3x+10)+ (2y—-x)k=0
S 2y=xy-3x=-10
Lx=4y=2

Lx+y=6




8.

k9] Zhell TAION(2k% - 3k)x — (k 4 2)y — (k* — 4)z = 289]
AHEE x,y, 29 g BE W, 3x+y+29] 2

@1 @ 2 ® 3 @4 ® 5

B

Fo1% A& kol sl A 2lstH
(2x—2)k?> = (Bx+y)k— (2y—4z+28) =0

L 2x-2=0,3x4+y=0,2y-4z+28 =0
z=2x, y=—-3x 22y —4z+ 28 = 0°] s
x=2,y=-6,z=4

L3x+y+z=4




9.

S 2 +ax® +bx+ 35 2 —x - 128 Hhe Y A7F 14x -9
o, a + b O] F27

&S 0(x) 2 sk

X% +ax? +bx+3

= (2% —x—12)0(x) +14x— 9

= (x-4)(x+3)0(x) + 14x -9
x=4, x=-32 ZtZF g YstH

16a + 4b 4 67 = 47---Q
9a-3b-24=-51---O

Q, O= A™Hstd EHa=-2, b=3
“at+b=1




10.  xofl tiet o4 f(x) € % -3x+2 2 WS m o YA 7 x+4
o]1, x* —4x+ 3 22 Y lS o] U7t 2x + 3 A W, f(x) B
x3 =627 + 11x - 6 02 HF3lS w o] U2 E R(x) 2t 5k2F o]
R(10) 9] #k2?

@ss @5 @0 @92 6w

~&B

f(X)Z( 1)(x-2)Q0(x) + X+4
~f(1) =5,£(2) =6

f(X)=( D(x-3)P(x )+2X+3
~f(1)=5.f(3) =9

f(x) =( D(x=2)(x-3)Z(x )+R( )

R(x) =ax’> +bx+c--©

@, ©F ©°l 27 i dstH,
a+b+c=05,4a+2b+c=6, 9a+3b+c=9
AAES Aot EH, a=1, b=-2,c=6
R(x) =x*-2x+6

- R(10) = 86
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11. o

IH

D (x-y-1)2=x2+y>+1-2xy—2x—2y
@(a +b)%(a-b)? = a* - 2a°p* + b*

® (—x+3)3 =x%-9x% +27x-27

@ (a-b)(a®>+ab-b?) =a®-b3

® (p-1(P*+1(p*+1)=p-1

B

O (x-y-12=x2+y>+1-2xy-2x+2y
® (=x+3)3 = —x3+9x% - 27x + 27

@ (a-b)(a® +ab+b2)—a -b?

© (p-Dp+ P>+ (p*+1) =p° -1




12, ©he % Alo] Ao7} vte ) ke AL mEwm?

O Q-x)(1+x+x%)=1-x3

@ (2 +ay + %) (6% —xy +3%) = 2 + %7 + )
@) (x-3)(x-2)(x+ 1)(x+2) = x* 852 412
@ (a-b)(a+b)(a®+b*)(a* +b*) =a® - b®

® (a+b-c)la-—b+c)=a%>-b*-c?+2bc

~&B

(x=3)(x-2)(x+1)(x+2)

(xz—x 6)(x% —x—2)

x? - x=Ye =4

(Y-6)(Y-2)=Y?-8Y +12
=(x2-x)2-8(x2—x) +12
=x*—2x3 —Tx%2 + 8x+ 12




13.

37} ofate] e f(x) ol st
f(x) _a b c d o
C-Da-2)0=3) —x i1 Txoa Ty 8EEH A

= T de B2 A7 (Fa, b, ¢, dE AFOIH)

f(2) f(3)
N ONENCNIO RO S @T

=

=3 o,
f(3)=d-33-1)(3-2)
TC)




14.

_\,1
_&
\

(x) ol Bl (a2 - 2)(x? + 3) = x* - 2ax? + b7} x ol TS
3&%*401 HE%a, bo] g2 S W, 2a- b2 §2?

® -3 @ -5 @ -4 @ 4 ®»s

(x2 2)(x2 + 3) = x4 — 2ax2 + bOl|A]
=29, 4-4a+b=0------ @)
?=-39 W, 94+6a+b=0----- @

©, N a=-7, b=-6
S 2a-b=5




_ 4
15, THgA 4 - 2 - 21x 7} (v )2 O Lol Wold ], o

rel gk

D 1.2 (@)1.5 ® 18 @ 2.1 ® 24

B ~
flx) = 4x® - 2x2 —21x+% -@
f(x) = (x=r)?(4x-a)
= (X2 -2rx+r?)(4x - @)
=4x% — (a + 8r)x% + (472 + 2ra)x — r’a
O} AsH| 25 sHH
a+8r=2---9, 42 +2ra=-21---©
@A @ =2 - 8r,
©°fl i dsha
4r® +2r(2 - 8r) = =21
12r2 —4r-21=0, (2r=3)(6r+7) =0

g r:g (v r>0)




16. xX*-4x> +ax+bE (x+ 1222 Y Y7t 7ol E W, a + b
o] 27

O -12 @—10 ® 0 @ 10 ® 12

B )

A4 vpect.
-6

P+27+1) P —47+  aztd

—| #4227+ z

—62°+(a—1)z+b
—‘ -6~ 122-6
(a+11)z+b+6

U7} 70|22 +11=0,b+6=17
ca=-11,b=1
“a+b=-10

B )
¥ —4x% +ax+b

=(x+1)2(x+k)+7

=3+ (k+2)x> + (2k+1)x+k+7

A4 Blasty

k+2=-4,2k+1=a,k+7=0

k=-6°B2 a=-11,b=1

Sa+b=-10




17. o3 P(x) = x* +2x3 +kx? - 2x + 87} x — 1 2 Yipo] ojx &
A k9] 2 A o o2 F P(x) 9] Q17 ofd A2?

@ x-1 @ x+1 ® x-2 @x+2 ® x+4

B

P(¥) = (x-1) Q)
CPA)=1+2+k-2+8=0
Sok=-9
P(x)=xt+2x° -9x% -2x+8
=x-1)(x-2)(x+1)(x+4)




18. t©FskA] 6x3 4 5x2 — 2x — 12 Q1B 51HH?

@ (x-1)(2x-1)(2x+1) @ (x+1)(2x+1)(2x-1)
@ (x+ D+ DEr-1) @@+ 1)Er-1)Ex+1)
® (x-1)(2x+1)(2x-1)

B

f(x) = 6x% + 5x% — 2x — 1|2} o}HA
f(-1) =o0olm=
f(X)L x+ 12 WrojEojln

634+ 5x2—2x—1=(x+1)(6x2—x-1)
:(x+1)(2x—1)(3x+ 1)




19. oh Ag AR 2 - 3a%? + 4yt = (% + axy + by?) (2 +
exy+dy*) B W, a+b+c+d 2 FE Aot (a,b,c,dv= )

> E.

> =g 4

(_i_/}_]l) — x4 + 4x2y2 + 4y4 _ 7x2y2

= (x2 +2y?)? = Tx%y?

= (2% + VTxy + 2y%) (5% - VTxy + 2y7)
a+b+c+d=4




20. Al e A4 a, b, coll Aot [a, b, ¢] = (a-b)(a-c)2t T o,
la, b, c] +[b, ¢, al + [c, a, b] =0°]H [a, b, || Ft-2?

@o @ 1 ® 2 @ 3 ® 4

~&B

(a=b)a-c)+(b-c)(b—a)+ (c—a)(c—b) =0
ZA7Nste] B=sHA a? + b% + ¢ —ab—bc —ca =0
(a=b)?>+(b-c)*+(c-a)*=0

La=b=c

o a, b, cJ=(a=b)(a=c)=0




